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General Instructions :

Read the following instructions carefully and follow them :

(i) This question paper contains 34 questions. All questions are compulsory.
(it)  This question paper contains two sections :

Section A — Macro Economics

Section B - Indian Economic Development

(iti) This question paper contains 20 Multiple Choice type questions. Each question
carries 1 mark.

(iv)  This question paper contains 4 Short Answer Type-I questions. Each question
carries 3 marks. Answer these questions in 60 to 80 words.

(v) This question paper contains 6 Short Answer Type-1I questions. Each question
carries 4 marks. Answer these questions in 80 to 100 words.

(vi) This question paper contains 4 Long Answer type questions. Each question
carries 6 marks. Answer these questions in 100 to 150 words.

(vii) Attempt all parts of a question together.

(viit) In addition to this, note that a separate question has been provided for Visually
Impaired candidates in lieu of questions having visual inputs, map etc. Such
questions are to be attempted by Visually Impaired candidates only.

(ix)  There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
has to be attempted.

SECTION A
Macro Economics

1. Identify, which of the following is not a source of demand for foreign
exchange. (Choose the correct option) 1
(A)  Imports of goods and services
(B)  Gifts by Indians to their families living abroad
(C) Indian tourists visiting foreign countries
(D)  Loans from Rest of the World
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2. SIS G T SHAN L g, FHHATARaa arferent sl 9 shifeTg : 1
(@& fashed &1 = Fif)
A (Y) ECcly ST ST ITHNT Ja i
) | (T HRH) | (T FeH) (APC)
0 (). 30 -
100 0 ...(11)... 1
200 30 170 0-85
300 60 240 0-8
%lwtr:
(A) —30,120
(B) 30, 120
(C) 0,70
(D) —30, 100
3.  HEEE® ST STfe el H T SATYfd H HHT L HhdT 2 | 1

(Fer o <h1 g o ToTq wiet forshe <kl = <hifig)
(A) TR IARfEd | et
(B) dHIHIM
(C)  Seh W A
(D)  G-Secs Wlﬂﬂ'ﬁrﬂﬁlﬁ) F T

4. " AT, fordt st 4, fenfera =g fFenfsa scaea @ srfier 2 |

778 Rerfa o Tfaaer W MTe o Geie § T foehed sht gg=e shifsiy 1
(1) STfeERAT ﬁﬁ@ﬁﬂmmﬁ(inventories)ﬁw
(i) TS T H gha

(iii)  3TIITEAT § Aok IcdTed TaT H HHl
(Gv)  STdgaer § U TX | hHt

IECIo' i
(A)  Had (i) B) (1) AR (D)
(C)  (iii) 3R (iv) D) (i), (iii) 3 (iv)

58/6/3 # 4|Page a8



@ collegebatch con

2. Using the given information, complete the following table : 1

(Choose the correct option)

Income (Y) Savings | Consumption | Average Propensity to
(in Tcrore ) | (in Tcrore )| (in Tcrore) Consume (APC)
0 (). 30 —
100 0 W), 1
200 30 170 0-85
300 60 240 0-8
Options :
(A) -30,120
(B) 30, 120
(C) 0,70
(D) -30,100
3. Central Bank can decrease the money supply in the economy by
1
(Choose the correct option to fill in the blank)
(A) lowering the cash reserve
(B) increasing the bank rate
(C) lowering the bank rate
(D)  purchase of G-Secs (Government Securities)
4, Suppose in an economy, planned spendings are greater than planned
outputs.
Identify the correct option with respect to effects on the economy : 1
(1) Decrease in planned inventories in the economy

(i1) Rise in National Income

(iii) Decrease in real output level in the economy

(iv) Decrease in employment level in the economy

Options :
(A)  Only (1) (B) () and (1)
(C)  (ii) and (iv) (D) (1), (iii) and (iv)
58/6/3 # 5| Page =43 P.T.O.
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5. e sl gR0 FA GiSid @/g T 500 &, qAT AR AT 20% 2, AT Arefier SHT 1
HT

BT | 1
(Fert T bt qfd o foTu wet forshed =ht == hifST)
(A) T 200 (B) T 300
(C) T 100 (D) T 500
6.  Afe MaRT Iure (K) T HM 5 2, dl I fiish sTeid %t B | 1

(e T <A1 g o ToTq HE forshed T == hIfTY)

(A) S=-60+025Y
(B) S=-60+075Y
(C) S=-60+020Y
(D) S=-60+060Y

7.  UgAH HifS i, Fferfaa @ @ ia-dt og Yra i T 11 & STreherd § aftaford
&1 sht ST | @& farea A Fifsr) 1
(A) WG H & ZATe o R T et st S o

(B) d&HI ¥ & dTelt 311
(C) Y ikl bl WA o &9 H WIAH

(D)  TorE ¥ GRT sfeh Rl ST FoRAT TIT ST

8. Ifd U FedHl @Ic] (upward sloping) dieft W UM %o, Y-31e7 o Rt

GhIIcqe He3Tie (coordinate) W 37d:TS (intercept) SHTAT B, Al EHT dlcqd I8

a for ot ¥ gfg 2 W dmia sawr yafy (MPC) qoT Sfted
39T Y4t (APC) | 1

(e ol <l gfed o forq @@l forehed =1 =i hIiSTY)

(A) Rem @t & gfg Bt (B) Hgfg enft, ¥ afg anft
(C) fremwfl, ¥ i gift (D) ¥ firree gt | fivrae enft
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5. If the total credit created by the banks is ¥ 500 and Reserve Ratio is

20%, the value of primary deposits would be . 1
(Choose the correct option to fill in the blank)

(A) T 200 (B) ¥ 300

(C) T 100 (D) ¥ 500

6. If the value of Investment Multiplier (K) is 5, the relevant saving

function would be ) 1

(Choose the correct option to fill in the blank)
(A) S=-60+025Y
(B) S=-60+075Y
(C) S=-60+020Y
(D) S=-60+060Y

7. Identify, which of the following items will not be included in estimating

National Income of India. (Choose the correct option) 1

(A) Salary to Indian residents working at the Russian Embassy in
India

(B)  Income generated from smuggling
(C) Payments to farm workers in the form of foodgrains

(D) Interest paid by a firm to a bank

8. If an upward sloping straight line consumption function makes an

intercept at the Y-axis at a positive coordinate, it implies that Marginal

Propensity to Consume (MPC) and Average Propensity to

Consume (APC) as the income increases. 1

(Choose the correct option to fill in the blanks)
(A) remains constant, rises (B) rises, rises

(C) remains constant, falls (D) falls, falls
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9.  TaHAfctiaa shorl ! eaTge afqu : 1
Fo 1 ;  ToRElt 311 HET o waw | < TS ET o Fid i o SRR @12 |

hYgd 2

foraeft g o1 #i o5F A= Fif SR aF AT = |

fau T et o 3TTeties |, FAfefaa # @ g&t foshed o1 == hifsie

(A)
(B)
(C)

(D)

FHUF 1 9 § AN FHIT 2 AR |
FUT 1 A 8 IR FHAT 2 A& |
FIT 132 I TS |
F 1 3R 2 IFT TEA | |

10. FHfeRead et — 31fihe (A) R HRT (R) i A6 96T |
Tt fow mu foenedt 0 § wEh faenea a1 == FifsTe 1

R (A) A IS GHH @ W, B T3 o HATHIA § 9% 3 T A |

Iig B Tkt 2 |

FR (R) : 5] HET o eI | dreor [Eer fofw ot gorett o Sfdvid eehr

T foraeft qETel o Helg H oM qeT o qed H i 9 2 |

forepea

(A)

(B)

(C)

(D)

AMRAT (A) 3 FHROT (R) SHT eI & R R (R), 3AMRAT (A) HI Tt
AT FAT R |

JANYHAT (A) I HRT (R) ST T 8, AT HROT (R), AR (A) i Tt

TS &l hdT & |

AR (A) T =, AT T (R) 3T 2 |

IARTHRAT (A) A B, Afohd FRT (R) g7 2 |
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9. Read the following statements carefully : 1

Statement 1: The price of a given currency in terms of another is
known as bank rate.

Statement 2 : Demand curve for foreign exchange is a downward
sloping curve.

In the light of the given statements, choose the correct option from the

following :

(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C)  Both Statements 1 and 2 are true.

(D) Both Statements 1 and 2 are false.

10. Read the following statements — Assertion (A) and Reason (R) carefully.
Choose the correct option from those given below : 1
Assertion (A) : Other things remaining constant, devaluation of domestic

currency may lead to rise in National Income of the
nation.

Reason (R): Devaluation of domestic currency refers to reduction in the
value of domestic currency by the government with respect
to foreign currency under the fixed exchange rate system.

Options :

(A)  Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of Assertion (A).
(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D)  Assertion (A) is false, but Reason (R) is true.
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=TS} W qeT it @ # e Fifr |
(F) A AU T FHihe! SR B A (NDPp) 3hl TUHT AT -
2727 A (?g %)
(1) | SIS g T Hehed T 3¢S 2,500
(i) | Feert Isft o1 3w 200
(iii) | &g o TR 20
(iv) |39 50
(v) | Toreetl & 9T 38 Rk A 50
(vi) | & ¥ aftEdq 30
(vii) | Terft afcut i st &t 500
reraT

(@) oIl & 9TH 37 |red A (NFIA) 3t GRTia ShiTST qeim S8k Jeeht il

STEAT IS |
“1990 o g H, TR {d S (RBI) il OeiTe W, YR TR o fafi=r usat &
T E0f W okl fiel} T vt ot form o 1
SUYF AT h AT H, TR o b, TSIE T HATGHR o6 &Y H hea ¥ sich hl HehT
o Eeny i =t iR |

(F)  “Teh ITFHTLAT AT o Y-SR & T H1feAd &I & 2 17

Ig Reufa Far euldt ® 2 @ fRufa @ fuer & fow forelt v qeeniT o @@
I SR |

YT

(@) Uk FHIcUe HEATcHE IETEL0T hl TN ik R ¥ Sarsy foh, fasr & i
TS TR g STeiaeT o SifaH 3T o T o hdl THTod hidl & |

forelt shTeufeh STefearareert § €y Wi (AD) % Hd ol STTheH HIVT ;
i) @rEE A Iy) = T 100 F

(i)  Himid e g (MPC) =
(i) STEAHIMER(Y) = T 4,500 FS
(iv) SWRAITINTET(T)= T 50 FS
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11. Distinguish between Current account and Capital account. 3
12. (a) Calculate Domestic Income (NDPg) from the data given below : 3
S. No. Particulars Amount

(in < lakh)

i) Gross National Product at market price 2,500

(i1) Consumption of fixed capital 200

(iii) | Goods and Services Tax 20

(iv) | Subsidies 50

(v) Net Factor Income from Abroad 50

(vi) | Changes in Stocks 30

(vii) | Unexpected loss of a fixed asset 500

OR
(b)  Define Net Factor Income from Abroad (NFIA) and discuss its

components. 3

13. “In the 1990s, on the advice of Reserve Bank of India (RBI), the
Government of India took a decision of hypothecation of gold reserves to
different nations.”

In the light of above statement, discuss briefly the role of Central Bank

as Banker, Agent and Adviser to the Government. 4
14. (a) “An economy is operating at under-employment level of income.”
What does this situation indicate ? Discuss any one fiscal measure
to tackle this situation. 4
OR

(b) Elaborate using a hypothetical numerical example, how a given
initial increase in investment affects the level of final income of the
economy. 4

15. Estimate the value of Aggregate Demand (AD) in an imaginary economy : 4
(1) Autonomous Investment (I5) = ¥ 100 crore

(ii))  Marginal Propensity to Consume (MPS) = 0-2
(i11)) Level of Income (Y) = ¥ 4,500 crore
(iv)  Autonomous Consumption Expenditure (¢) = ¥ 50 crore

58/6/3 # 11| Page =43 P.T.O.
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16. &) () #H T fF, uh Fedfres srderaren d Haa T w8 A, B3R C § |
T T3 gramater o SR, 3o gRT MHEfaRad oF-od fr mu e
(I) %4 AF%H BT 2,000 7€ FH C I 1,200 3 Je T HTA

forshar femam |

(II) %4 B %4 AT 1,100 791 %4 C I 3,500 3% He T HIA
Torsha fepam |

(II1) &H C 3 TE&AT i % 5,700 o Hed 6 AT o 3iqd U o fAg
IEERRERIN

IR i % 120 HHd 8T, TSN Hod W 3[4 5] 3care (NDP, ) %

H ST A TS | 3

(i)  Torell g o I TurETYOl RIS Y A ATl 2000 Y et %
fomior @ tefegaeen § @ohel SRSl 3cU1e (GDP) 9 Sedmul W ETfad

JTEl Shi SRSAT I | 3
JrraT
@ () O dles ghd =Wl 3c0E (GDP) 9 Hifssh Hehel Bl 3@ H fowig
HIT | 3

(i)  fadish 11 315, 2023 1 T T % FTER ;
“forefi ad 2023 & sAfFee areAt it fosht uen faferam &1 1t ur
LERA
Fhel BT 318 (GDP) 3 AT 0T W g6 THE I forweryor

FHifsTu | 3

qe :  HEfIRaa yo shael greariera qatetean & 170 3971 &1 16 (@) (ii) % H |
gl
ST HIS foh, Tord o TR-HIfseh Ti-a” o1l o Gaieh o &9 H GDP o 3w
1 Hifed = 8 |
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16. (a) (1) Suppose, there are only three firms in a hypothetical
economy, viz. A, B and C. During a given period of time, the
following transactions were under, taken by them :

D Firm A sold goods worth ¥ 2,000 to firm B and ¥ 1,200
to Firm C.

(II) Firm B sold goods worth ¥ 1,100 to Firm A and ¥ 3,500
to Firm C.

(ITI) Firm C sold to households for final consumption,
goods worth ¥ 5,700.

Estimate the value of Net Domestic Product at Market Price
(NDPyp) assuming depreciation to be ¥ 120. 3

(ii))  Explain the likely impact of construction of 2000 new schools

providing high-quality education in a nation on Gross

Domestic Product and welfare in an economy. 3
OR
(b) @) Distinguish between Real Gross Domestic Product (GDP)
and Nominal Gross Domestic Product. 3

(ii))  As per a news dated April 11, 2023 :

“Electric Vehicle sales crossed one million mark in FY 2023.”

Analyse its impact on Gross Domestic Product (GDP) and
economic welfare. 3

Note : The following question is for the Visually Impaired Candidates only
in lieu of Q. No. 16 (b) (ii).

Explain how, ‘non-monetary transactions’ in an economy act as a
limitation of using GDP as an indicator of welfare.

58/6/3 # 13| Page =43 P.T.O.
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17. FHfRad Ta l AHgE® ufe :

TR e FEgel qor Qarsdl i SUcied HLaTd! 7, e sii-ds o g
3UcTsY &I AT ST Hehdll | §H YN hl TEG3AT o AT & — TS Y&, qSeh,

TR SRITEA 3Tle, Fofee ATeisti-en aRqe el ST € |

fsft aEqetl Torm Weste aeqell § T queT 86T | 39 a1 9T i 1 |
UBAT A I8, o Areseh a&qq @l o fOIT Suctey & qur ek Ay forelt Tk fomiy
YW ek &t €ifird =€t € | Seretr % fou, afe us saftr i ggaar 8, a1 98 3=
el & foTu Suctsyr T Wit | T8 el <1 GohaT © Toh 50 =afth & Ui qur o=
Al o UM § Tidgdt defyr & | oiferd afe & wreistih areh =1 a1g Jguor i
LA o ST 3hT ST R, AT 39k AT Bl o ToTl SUTed 811 | Woh ATk ST Uoh o ol
SYHIT UL o {eTT STk STFNT shT STASHAT I HH el il | 37l Teh 1Y Fg AN
TehT TN 331 Tehd &, 7T I&T g AARTH Rl SUHNT FTTZaTeHe &l 1T |

T, TSt gl o @we o, Sit sfth sl o ToTT YT el el 36 geht
AT 33 § dfId R ST Teha © | IS 3119 foehe 1 @ilia, aF 31Taeh! fqmr =) # fbed
3@ T STA 81 T | TR |Teistiveh a3l o dwas H, ot sht +ff ar%q 1 e
33 W dfed I T g UEd (FUR) TR T8l 8 | AT Aresiioh g3t bl
TR-STYESHHI haT SITAT | AfS e ST T T oft a8 a oft areisifes awqaft
o 1T, R[ooh T AT hicd &l e, MU SIgd ST 3TEE &1 ST & | 7 WM 19U
ST STRINT st STeTt sht ShI-TSeH (Y@ el STl & | STHIhT Ufoash &9 § 34
=Sl & forg sprae T2, 2 9 qa § W R ged & a1 e foe anferemn
HIYHR AT (TIT) LT & | IcqTeh TAT ITHITHT oh sf<l WA TIHAT 6 FRI €A1 B
AT gl 2 ST 2 | T8 H, 36 Toh shl 31 hl IUCToY LA o [T HLhR T ST
HAATTEN T |

few e ey T T I % AR 9, frefefiad get o oS

(F) N GRT AresT e g3l hl Tt 1 AFETRIS e 9t I sdsy | 3
@)  SHI-UESH (HHAER) i GRWTNG hIfST | dreistier a&qatl & e # hi-tged
ST Ica= AN shl SareT I | 3
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17. Read the following text carefully :

Government provides certain goods and services which cannot be
provided by the market mechanism. Examples of such goods are national
defence, roads, government administration etc. which are referred to as
public goods.

There are two major differences between public and private goods. One,
the benefits of public goods are available to all and are not only restricted
to one particular consumer. For example, if a person wears a shirt, it will
not be available to others. It is said that this person’s consumption stands
in rival relationship to the consumption of others. However, if we
consider a public park or measures to reduce air pollution, the benefits
will be available to all. One person’s consumption of a good does not
reduce the amount available for consumption for others and so several
people can enjoy the benefits, that is, the consumption of many people is
not ‘rivalrous’.

Two, in case of private goods, anyone who does not pay for the goods can
be excluded from enjoying its benefits. If you do not buy a ticket, you will
not be allowed to watch a movie at a local cinema hall. However, in case
of public goods, there is no feasible way of excluding anyone from
enjoying the benefits of the good. That is why public goods are called
non-excludable. Even if some users do not pay, it is difficult and
sometimes impossible to collect fees for the public good. These non-paying
users are known as ‘free-riders’. Consumers will not voluntarily pay for
what they can get for free and for which there is no exclusive title to the
property being enjoyed. The link between the producer and consumer
which occurs through the payment process is broken and the government
must step in to provide for such goods.

On the basis of the given text and common understanding, answer the
following questions :

(a) Describe how the Government’s role in providing public goods
impacts community welfare. 3

(b)  Define free-riders. Explain the challenges posed by the free-riders
in the context of public goods. 3

58/6/3 # 15| Page =43 P.T.O.
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"Yis g
aet aArfefer farermar
18. fimfciRaa o @ fora Trsg/fop Tt 3 <ffer farahmar o fotw d=raffer s g &1 dtem
ERIRIR: CHACETREIRCPE R S T
(1) Hid (i) ©HF
(ili)  OTfeREdTT (iv) ST T ST
frerea
(A) (@), (i) 3R (iii) (B) (i) 3R (iii)
(©) () 3R Gv) (D) I (iv)
19. FHAfARad el i egEs 9oy ; 1
FY7 1 : USHTR sk Ul Tifafafer 8, S foreft safxe ot oo ufar o for srsfifesnr
T GTE TSI H T H&Tq S 2 |
FYF 2 HAfHER I8 & M, U ScdTEeh W13l g Hehel B 31 (GDP) H AR
qare |
fau T sheT o 3TTedies |, Ffefaa § @ 9t foshed o1 ==a hifeie
(A) T 19 8 AN FHIT 2 HEA 2 |
(B) U 1 AHT R AN HIYT 2 AL |
(C) w1 2TATAR |
(D) T 132 AT AR |
20. Hohdeh hl IS o TeHIfas Folr o o SHaiferdhar arfiert &
T o &9 1 gy foram ST asar® | 1
(e o <A1 g o ToTq |e forshed sl == h1fTY)
(A)  3idfeR (B) &ddr
(C) Tamyg (D) SHHIRFhH
21. & Shifd et g | 1
(e o k1 g o ToTq |et forshed o1 == hifSTY)
(A)  SHTEHET (B)  Hc& IleH
(C)  FuIaE (D) 9] e
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SECTION B

Indian Economic Development

18. Which of the following country/countries followed the Five Year Planning

structure of economic development ? (Choose the correct option) 1
(i) India (ii)  China
(iii) Pakistan iv) USA
Options :
(A) (@), (i1) and (iii) (B) (1) and (iii)
(C) (@) and (iv) (D)  Only (iv)
19. Read the following statements carefully : 1

Statement 1: Employment is an activity which enables a person to earn
means of livelihood for his/her family.

Statement 2: A worker is the one who contributes to the process of
Gross Domestic Product (GDP) by rendering his
productive services.

In the light of given statements, choose the correct option from the

following :

(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C) Both Statements 1 and 2 are true.

(D)  Both Statements 1 and 2 are false.

20. indicator may be defined as the measure of the extent of
demographic participation in social and political decision-making. 1
(Choose the correct option to fill in the blank)
(A)  Economic (B)  Liberty
(C) Health (D) Demographic
21. White Revolution is associated with . 1
(Choose the correct option to fill in the blank)
(A)  Horticulture (B)  Fisheries
(C)  Dairy Production (D) Animal Husbandry
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= 7, o ST, FEHRI I TS ©d M o [TC T qH &M i TS
ST TTreR IcaTeH ITed &1 STR o i SUeh0T | o T | 1
(far T =6 gfd o fore wiet forepe = = ferg)

(A) €I HN T
(B)  FFIT JUITA
(C) W& GeRT HiEahiceh shifd

(D) &R shifd

frrfeifiaa sherdt — TR (A) STRHROT (R) i AHYe 9T | Fi= fag e foeredi

o wEl foerey g ; 1

3frHeT (A) : 99 1921 I HeM faTSis 99 (Year of Great Divide) & AT R |

FRU(R) : ¥ 1921 o 39T, WA hl SHEEAT I & H ot sgiadl gs off |

frepeT

(A) AT (A) 3R FHROT (R) SHT T & AR FHR (R), AMTH (A) i Tt
ST AT & |

(B)  AMYHAT (A) 3R HRT (R) SHT T &, TAfehd HRIT (R), AR (A) T Tt
ST T FAT ¢ |

(C) AN (A) T 8, fehd RN (R) T ¢ |

(D)  AMYHAT (A) T &, TATohd HRUT (R) T2 |

EICIE k| U U AT BRES’ (GLF) SATaIeH shi JEATd hl o | 1
(e T <A1 g o ToTq |E forshed T == h1fTY)

(A) 1951 (B) 1955
(C) 1958 (D) 1962

“VIT TR A ToreT safth o T siferkaw i gor e (&afiea) @ s ol if

TS ot |”

WUENOEAT &G H SIS | 1
(e o <h1 g o ToTq |e forshed <1 == Sh1fTY)

(A) e shifd (B) i ufEfaa

(C)  forskar fermy (D) g shifa
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22. In China, under , peasants were provided with pooled land to
create larger fields that could yield greater output and they shared farm
implements. 1

(Choose the correct option to fill in the blank)
(A) Joint Farming System
(B) Commune System
(C)  Great Proletarian Cultural Revolution
(D)  Green Revolution

23. Read the following statements — Assertion (A) and Reason (R) carefully.
Choose the correct alternative from those given below : 1
Assertion (A) : The year 1921 is called as the Year of Great Divide.

Reason (R):  After the year 1921, India experienced a sharp rise in its

population growth rate.

Options :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D)  Assertion (A) is false, but Reason (R) is true.

24, Mao initiated the ‘Great Leap Forward’ movement in the year
(Choose the correct option to fill in the blank) 1

(A) 1951 (B) 1955

(C) 1958 (D) 1962

25. “The Indian Government adopted a policy of fixing maximum land
holding limit (ownership) for an individual.”

It is commonly known as . 1
(Choose the correct option to fill in the blank)
(A)  Green Revolution (B) Land Ceiling
(C)  Marketable Surplus (D)  Golden Revolution
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26. FEfcTRad fort =1 srearg ST o SRR g0 Y fouur § g o foig 7o g
34T S U= I | GHAEEIREIRCREEAIE I |
(A) UEHRI 0T GiHfaat B) faftafiaawm
(C)  itee geremg (D) ¥ TR
e :  [AIRad 3 Fao gieartea ahgmiefar @ fo7d 997 671 26 % ¥ We |
uEeH IS fop, frmfcrfiad # @ spIH-61 S g iy fordur § o o fof SToeTy
MR AT TH TR |
(A) UEHRI 0T GiHfaat
(B) r-faf=fia (unregulated) ISR
(C)  wEw ufae gfoumd
(D) =T JER
27. YN HIfSY for, feafeifad § & snH-1 SERISoT ol T TR & TRTiyd ST 2 | 1
CHAEETREIEPERC IS
(A) WSS &l o IUshAT (PSUSs) o I o Ueh f&edl shl TehAed forshl
(B) I forvar & @ner afefq ushienor
(C)  Irfeare o fafyr &l W ETehr ERT AT 7T Yidse sl §2HT
(D) AT T 9T &1 ST
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26. Study the following image and identify the measure adopted by the
Government to improve agricultural marketing. 1
(Choose the correct option)
(A)  Cooperative credit societies (B) Regulated markets
(C) Transportation facilities (D) Dissemination of information
Note : The following question is for the Visually Impaired Candidates only
in lieu of Q. No. 26.
Identify, which of the following measure is not adopted by the
government to improve agricultural marketing.
(A)  Cooperative credit societies
(B)  Unregulated markets
(C)  Better transportation facilities
(D)  Dissemination of information
27. Identify, which of the following correctly defines liberalization. 1
(Choose the correct option)
(A)  Outright sale of part of shares of Public Sector Undertakings
(PSUs)
(B) Increased integration with the rest of the world
(C)  Removal of restrictions imposed by government on different sectors
of the economy
(D)  Focus on import substitution
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@) “Torfenr wmed % SRH, et =X 3caTe (GDP) H STl &5 1 ANEH sigs
W T&T T |”
3T I o U | A= okt died QU T e @ e fag fifsr | 3
STAAT

@) “fafewr ymEa & Faia e GEAT & foeem & i et TeRde YRd &
SR ol FETET Glaemd Y& w1 11 g fafi= siafefie fedi it e |

T AT |”
T 31T T 7T HoH T TEHT & 2 A9 ST oh TR § 7= FH0T 91T | 3

fau g fot o TR W, A GSit P10 o |q 1 GHSY ST 9RA S AT Jig §
JMEH S THATR | 3

: HEfcTRad o #ae gigaTiera qheieran & fo7q S97 981 29 & T W E |

A STt HHTOT 6 G o w9 H <Rren | fawr s samen Fiie |

“IATNGR &5 o I SNU=IER & § SITET USHTR JeT ST A9 © |7
e ekt g ST o <hl Y hIfVT | 4
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28. (a) “During the British rule, contribution of industrial sector to the

Gross Domestic Product (GDP) remained very low.”

Justify the given statement with valid arguments in support of

your answer. 3
OR

(b) “The real motive behind infrastructural development under the
British rule was not to provide basic amenities to the people of
India but to subserve various colonial interests.”

Do you agree with the given statement ? Give valid reasons in
support of your answer. 3

29. On the basis of the given image, explain the source of human capital
formation which may contribute to the economic growth in India. 3

Note : The following question is for the Visually Impaired Candidates only
in lieu of Q. No. 29.

Explain ‘Investment in Education’ as a source of human capital
formation.

30. “It is necessary to generate more employment in the formal sector rather
than in the informal sector.”

Justify the given statement with valid arguments. 4
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T ot a1 STt o1 qeateh hIfTT e STTaR @ =i & oTfefer foermer o ofter afg
g | 4

(@) <21 wIarTsdt § Aw H gROf Tk S @re G 9 B G
SEITehT Teh HEwerqol sifHeRT f1T Hehell € 17
[HRICREEIE K CIE X IR RARECAIS I 4

HAAT

@) T foeh BT SUTSUAT o Hew shi STl Shifwiy | 4

@) () IR TR % foTT Shaed TehRIcHes TROMAT STefl T T & g 17
T3 T Ho T AT TUSSTERAOT o |1 GHE S7ET Ged ShiT | 3

(ii) “ForIar Wi e § F &= H foreiferai o S+’ & GHdT 1 a8
ST 3T T |7
T A 4T T Fo § Fud & 2 A TR Higd AU I HI G0
e | 3

HAYAT

@) () “FNIEH WHN ford T 9 T S &, T I8 T F € et
o T sTawae 8 17
f3U TTT e T Sy SIS o AT e g i | 3

(ii) ASHT Y % SRl TR § TSP R G YT T § A SN AT
VHeRT O HEq H == shifse | 3
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31. Evaluate any two factors that led to the rapid growth in economic

development in China. 4

32. (a) “IT can play a critical role in achieving sustainable development

and food security in the 215 century in the country.”

Justify the given statement with valid arguments. 4
OR
(b)  Explain the importance of credit availability in rural development. 4

33. (a) () “Globalisation has been a process for India with only positive
results.”

Defend or refute the given statement with valid explanation. 3

(ii) “The goal of equity was served by ‘Abolition of Intermediaries’

in agriculture in the post independence period.”

Do you agree with the given statement ? Support your answer

with valid explanation. 3

OR

(b) (i) “Farm subsidies put a huge burden on the government

finances, but are necessary for poor and marginal farmers.”

Justify the given statement with valid explanation. 3

(i1) Discuss briefly the role of small scale industries in generating

of employment and equity in India under the planning period. 3
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FcTRed e ! e uiey :

SN % S¢d §Y e Yara@l (footprints) % HN, SIAAR Hhe H TqE
NTEHHA| o &9 H fagd 9 g8ard &= gRdat | @1 8 | STaary aiEd s I |
TN I o FSEET Bl Fled Ueiial (footprints) F FH A aTell Jmell o
TSRS ST ITei ok & fueT ST et @ | 8 it fom-avor a & gva 2|

B fora-aI9oT =T 39 HraisTieh, st 37T ATyt €31 & aRofi foemmd o
o fodfia ware (SIS, argsni-shise, sitaT it fasT @) F TR F TgrTR |

ARerh Bl foret (eAteret W wrga) o o TR shafrRIt 1 et T &
foam & | afRtees forerme for e 31 o (hS) €N Sl 3R STa-foRqa St aiEismmstt
& ToTT Tt &0 U ErefepTetie THei (Sfeerdt ST 30T € o o Tt dar # |

BN forT FATareoT i Turel, SATTeieh forehr o forfiar Hel Tt WehmrcHh JTe ST
GohdT 7, S BHa 3TfeaelT ol TicdTied $id 7, S foh MESE 18 Scis ol
AT, FrSll SETAT H G HAT AT SAfereh ST 7 qhg T |

few o g 3 g IE % AR ¥, fAEfafiad get o o
@) &ia foam o1 o7 7 SevT 1 Sooig i | 3
@) &fa fam-aiwor o fereel a1 e o ==t R | 3
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Read the following text carefully :

Growing carbon footprint of industries have put power and steel
sector in the spotlight as the major contributor to the climate crisis. The
challenge of climate change can be tackled only by making our industries
and businesses follow practices and processes that reduce their carbon
footprint. It can be possible only with green financing.

Green financing aims to increase the level of financial flows (from
banking, micro-credit, insurance and investment) from the public, private
and not-for-profit sectors to sustainable development priorities.

Global green finance has also started chasing Indian companies.
Global development finance institutions and funds are ready to offer
long-term support (both equity and debt) at cheap rates to projects like
solar energy and hydropower.

Green finance can positively affect environment quality, economic
development and financial issues that promote the green economy, such
as reducing greenhouse gas emissions, improving energy efficiency or
enhancing the organic economy.

On the basis of the given text and common understanding, answer the

following questions :
(a)  State the meaning and objective of green finance.

(b)  Discuss any two benefits of green financing.
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